Exercise (Week 4)
October 15, 2021

. B3R A:[a,’j]€M3><4,B:[blj]€M4><3 v a,J—l—f-],b,J—l Jj-
(a) 2 HEDT L A o B.

b) #F41* B & 3rd column *+ & AB 0 3rd column ¥ &t 2% 8T AB &
(
(2,3)-th entry.

(¢) #FF1* A & 2nd row 3+ 8 AB ¢ 2nd row ¥ k91 % BT AB 1 (2,3)-th
entry.

(d) Z&&F1* pff 22355 AB 9 (2,3)-th entry.

B3R A= [a,’j] €My, «,,B= [bl]] EM, £ £ AB= [C,‘j]. £ by,cx ~ W%t B - AB
e kth column. © 4o by =rb; +sby+rbs 2 ¢ rs,rcR. P ¢4 =rep +s¢ +1c¢3.

. B3 A,B ¥ 5 n Fg e diagonal matrix ¥ X A,B 7 (i,i)-th entry 4 %] 5 a;,b;.
(a) :##FM AB » &_diagonal matrix * B T AB 1 (i,i)-th entry. F & L5 A
fv B #_F 5 commutative (T E_F k27 23 AB=BA)?
(b) 1" HFFP2HEPHEL kmeN, AAB™ 7 % diagonal matrix.
. IF;;({ A,B,C ¥ 5 n F§éhsquare matrices. ¢ % A 4 C 5 commutative ¥ B fr C
% commutative.
(a) #P A+ B {r C % commutative.
(b) #fI* EEFRZEPHEIL kmeN, AR e Cc™ % commutative.
SR "439:7;@"\ f()_amxm+ +a1x+a0€R[]. 11’1{,&}’1}’“"“_{.14 T
fA) 5 nig> L q,A"+-+a1A+aol,, B¢ L, 5 niF ¥ Ed il e 3.4
AL F LT R AE
(a) & A 5 diagonal matrix P f(A) 7 5 diagonal matrix.
)

(b) B3& f(x),g(x) ER[x]. HER niy>"L AB % A4 B 5 commutative, z&
B f(A) fr g(B) 7* 3 commutative.



